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Test 1 (B)

- No books are cell phones are allowed. Yon may use a nonprogrammable scientific calculator with-
out graphing capabilities. Show all of your work and use correct notation.

Question 1. (16 marks) Find the indefinite integral:
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Question 2. (6 marks) Solve the initjal value problem:

flt)y=62+x-3, f(1)=6
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~ Question 3. (10 marks) Use the definition of the definite integral (Riemann Sum) to evaluate:
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Question 4. (15 marks) Evaluate the definite integral
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Question 5. (10 marks) The hlgher ups at the Ideal Toy Company have determined that the daily
marginal cost function associated with producing Rubic’s Cubes is given by:

C'(x) = 0.000006x* — 0.006x + 5

where C’(x) is in dollars and x is the number of units produced. Since theft is an issue at the

Rubic’s Cube factory they pay a lot for security causing the daily fixed cost 1ncurred in producing
the Rubic’s Cubes to be $450.

(a) Find Mattel’s daily total cost for producing the first 200 units. (You may use decunals in your
answer.)

Clxy= E}Q{X\}é?{ (j) “@O@m’a«x ~ 0 ol HE Yy
v ¢
, e =y o ra he 5 uﬂh
- 0-@'@@@@9\x5“a.mg’§§gc o x eii:
\\ -
Clod=9sn =5 ¢ =450

v

-t L(?"\’\)w C) OO@QOZ}c’(wCﬁ Gé—"’gx *’5‘}(“?950

e , P ~ 2 ‘
C ( 20 o} =0T OoD 2 (200N - 0 L aveys Ceoyey sy +< {; }m:; g -~ L)

= R 1290 o - |

(b) Use the net change formula (definite integral) to find “+he_ daily total cost for producing the
201st through 300th unit. (You may use decimals in your answer.)
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